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B.Tech., VIII Semester
Examination, May 2023 a) Explain the concept of general shear failure. 7
Grading System (GS) AT AUV fAtheta &t STEUROT ﬁ‘ﬁrﬁmt
Foundation Engineering b) A 12 m long, 300 mm dia concrete pile is driven in a
Time : Three Hours uniform deposit of dense sand. Water tablc‘ 1s at great depth
Maximum Marks : 70 and is not likely to rise. The avg dry unit wt. of sand is
Note: i) Attemptany five questions. 18 KN/m3. Use N= 137, calculate the safe load capacity
for=gi ufe merif Y a1 Hfrw of a single pile with a FOS of 2.5, & = 25°. 7
ii) All questions carry equal marks. w12 Hiex T, 300 At AT P 31 ok ¥ 915 S Wp
woft et & v i A 991G § Tl ST 81 976 TR Prhl TERE ) § 3k
iii) Abbreviations have usual meanings. ST go it FUEAT T8 &1 YT @ A IB FFTE UR
9 ;‘}qf e aefi!dldm o 18 KN/m? &1 N, = 137 1 SwdiT @, 2.5 % FOS, g=25°
v €niion e assume Clearly. ) Eﬁ' TOFET .
T ST HT WE T9 F IFF | asamqmaqzﬁ'rw%m&mm Al
v) In case of any doubt or dispute the English version a) For 450 mm side square section concrete pile 15 m long
question should be treated as final. . is driven in a deep deposit of uniform clay. The laboratory
fapedt ft PR & wieg IrEr g 6t fRARY A i wm unconfined compression test on undisturbed sample
& W3 Y 3T 7T TR indicates an avg value of UCS (Q,) = 75 kKN/m?2. Calculate
| the ultimate load capacity of pile. 7
1. a) What are various types of footing? Mention the basic Take o = 0.8, v,,= 18 KN/m? , ,, = 10 kN/m3.
crit.eria for satisfactory perform‘ance of a. foundation. 7 450 ) AEE ERR YF9F F 1Y 15 Hle e dhle P N
w%wmwé?ﬁwﬁmmﬂq I @ WA g} 3 TR St o et S &1 v T
%mgﬁmﬁ_qﬁ@ &I IHE TR TR 3Rag Gdg Fer UCS (Q,) = 75 kN/m?
b) Define f°n°““gi;°m:s'b _ 5, Net ult ’ % S A1 B St e &1 QR Y TRe TR T B o
Net pressure, Ultimate bearing capacity, Net ultimate | o = _ 3 . 3 .
bearing capacity, Net safe bearing capacity and Allowable B Gi *=08, ‘,Ysa‘ 18 kN/m? , ¥, = 10 KN/m?® | ,
bearing pressure. ) Give the classification of pile based on function or action.
: 7
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List thp variops equipments used for field compaction.
Also differentiate between light wei ght and heavy weight
7

" proctor test.

& BT 5 T srgeet et awamwolt 4Bt et @) et
& &b T 3R MR ot At iR Sve & afeR ft AR
Describe the SPT method in brief. Also explain over burden

and dig?éancy cggrection on N value, 7
SPT IaTe1 1 e 3 guis HRg) N dog 1R s 987 3k
et svaem @t off wwenzy %

Why anc-l in v'vhich situations soil stébilization techniques
are regum:d in field? Describe the electrical stabilization
technique for improvement of soil. 7

Q¥ 771 R aefiat A arraeaadr a4 ok R

R A uselt &2 ger GuR & fre R e gl
1 qui Hifrg o e

Describe the Geosynthetics used for soil improvement
technique. 7

4T GUR T-ies § Sga -Heauvr ot qui- HiRig)

Explain various characteristics of expansive and

collapsible soils. 7
farares 3R demaren g K Rt Rdvarst #t wasE
Explain: 7

i) Disturbed and undisturbed sample

i) CNS layer

[HARYI

i) fage iR sfdgey T

ii) CNSURd

What are various types of lateral earth pressure? Derive
the expression for calculating earth pressure at rest. 7
wied gedt & gara & A THR T €7 R srawer X
gedt g &Y IR & forg aﬁ?ﬁ gaw g

DT

b) Foran earth retaining structure shown in
earth pressure diagram for active state. Als
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fig.1, construct
o find the tota?l

thrust per unit length of wall.
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Figure 1 (iRA 1)

A retaining wall of 5 m height has to retain a stratified backfill

as shown in fig.2. Find out the magnitude of total active thrust
on the wall and locate the point of application. 14
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Sand Silt
1.85Um3, c=1.0vm?, $ =20°
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Loose Sand
y=172tm? ¢ =30°
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Dense Sand
y=1.88vm? ¢ =36°
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